OPENI MIN. NEG.
NG TIC NO. DBL
KIF | OF THRU
DESCRIPTION RESPONSES SUBSEQUENT ACTION PASSED HAND BIDDING
1% 0 any distribution 17hcp+ point 16=0/6 1v=7/8 14=9/10 building up per 2 points also |NT rebid without 5 card+ first bid 5cards + same 14 on reasking is 0/4 INT or
asking on intervention up to 29 then 4cards 2& 5/6 no 5card / other bids are
but 3# is natural or asking and 7+hp 1v on 1¢ is reasking hcp Scards+ stayman + texas on NT
double on 1level = 4/6 hp rebid when minimum response
1¢ 0 11/14 hp any dist no Scard major |1 relay 6hp+ change suit non forcing jump suit rebid natural suit on INT forcing 2#=11/12 natural bidding
] weak == INT forcing 24=13/14
INT forcing / 2NT game forcing after 24 response / |2¥/24=13/14 with 4card
24 asks majors
1v 5 5card 11/14hp INT round forcing/redouble is forcing double on 2#=11/12 on forcing INT or xx / natural suit change not forcing / 3%/ asks
2level intervention is takeout/ 2NT forcing rebids jump in forcing situation is void or single|for 3NT
pass<10hcp and no bid to improve the contract / suit |with support for other suits
change not forcing
1e 5 Same as above
INT 5 15/16 hp regular distribution stayman texas Shp=2NT 10/15 = 3NT
28 5 15/16 5card &/v/e 2NT forcing 9+hp 2¢ relay
2¢ 15/16 with 5card ¢ SR orcing Gipe 2 N
2y Lol 15/16 with 5card 2NT =9 hp+ forcing 3 in other major is 3 card others natural
24 15/16 with 5card Same as above
2NT 5/5 minor suit 12/15 hp natural / 2NT forcing / 3 weak
3& good 7card with tops
3¢ good 7card with tops
3v 7card
3¢ 7card
3NT gamble with long minor
4% weak preempt
4¢ weak preempt
4v to play
44 to play
4NT Ace asking

HIGH LEVEL BIDDING

Blackwood 4NT 5& 0/3=54¢ 14 =5¢92=542+ Kof trumpor 1K

Dopi

gyt

Jump in forcing situation is singleton or void




